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2005

2006

2007

100

200

200




26,367,685 20,469,158 5898527|[ 12,912,000 ]
21,576,211 20,424,040 1,152171{[ 12,912,000 ]
5: 20,811,920 19,910,549 901371|[ 12,400,000 ]}
5- 5,524,201 3,413,701 2110500([ 2,500,000 ]
250,910 450,300 199,390
(3210-3218-120-201-01)
70,000 * 1 * 13 = 910
(3210-3218-220-402-01)
(=500,000)
= 150,000
= 100,000
769,794 958,994 189,200
(3210-3218-120-202-01)
2006
49,900 * 3 * 2 *10 = 2,994
(3210-3218-120-202-03)
4,800,000 * 1 *1 = 4,800
(3210-3218-120-203-03)
2006 = 2,000
(3210-3218-120-307-02)
= 10,000
(3210-3218-120-307-04)
2006 = 500,000
(3210-3218-220-402-01)
«C ) = 250,000
3,503,497 2,004,407 1,499,00([ 2,500,000 ]
(3210-3218-120-202-01)
49,900 * 3 *2 *5 = 1,497




(3210-3218-120-203-03)

= 2,000
(3210-3218-210-402-01)
= 3,500,000
[ 2,500,000  1,000,000]
1,000,000 0 1,000,000
(3210-3218-220-402-01)
= 1,000,000
5- 8,308,307 8,008,097 300210[[ 5,900,000 ]
Dream Map21 7,902,497 7,402,497 500,000([ 5,900,000 ]
(3210-3218-120-202-01)
49,000 * 3 *2 *5 = 1,497
(3210-3218-120-203-03)
= 1,000
(3210-3218-210-402-01)
= 3,000,000
[ 2,000,000  1,000,000]
= 3,000,000
[ 2,500,000  500,000]
= 1,400,000
[ 1,400,000 ]
(3210-3218-220-402-01)
= 500,000
405,810 405,400 410
(3210-3218-120-201-01)
3,000 * 3 * 100 = 900
70,000 * 3 * 21 = 4,410

(3210-3218-120-301-10)




100,000 * 1 *3 = 300
(3210-3218-120-301-12)
50,000 * 4 *1 = 200
(3210-3218-120-307-02)
= 100,000
= 100,000
(3210-3218-220-402-01)
= 200,000
5- 6,604,094 8,054,994 1450000 [ 4,000,000 ]
5,900,000 7,302,994 1402994|[ 4,000,000 ]
(3210-3218-210-402-01)
MEMS/NANO = 2,400,000
[ 2,000,000  400,000]
= 3,000,000
[ 2,000,000  1,000,000]
(3210-3218-220-402-01)
= 500,000
204,994 302,000 97,006
(3210-3218-120-202-01)
49,900 * 3 * 2 *10 = 2,994
(3210-3218-120-203-03)
= 2,000
(3210-3218-120-307-04)
= 200,000
500,000 0 500,000
(3210-3218-220-402-01)
= 500,000




3,500,000
5- 374,418 433,757 50,339
202,697 302,097 99,400
(3210-3218-120-201-01)
11 = 1,200
(3210-3218-120-202-01)
150 49,900 * 3 *2 *5 = 1,497
(3210-3218-220-402-01)
11 (=200,000)
4,000,000 * 45 = 180,000
= 20,000
86,240 98,240 12,000
(3210-3218-120-201-01)
1,000 * 800 = 800
70,000 * 1 * 17 = 1,190
(3210-3218-120-301-07)
(=10,000)
1,600,000 * 5 * 50% = 4,000
1,200,000 * 5  * 50% = 3,000
1,200,000 * 5  * 50% = 3,000
(3210-3218-120-301-12)
50,000 * 5 * 1 = 250
100,000 * 2 *10 *2 = 4,000
(3210-3218-120-307-02)
= 10,000
(=60,000)

30,000




30,000

40,800 24,000 16,800
(3210-3218-120-301-12)
(=15,800)
1,000,000 * 2 = 2,000
800,000 * 6 = 4,800
500,000 * 18 = 9,000
(3210-3218-120-307-04)
= 10,000
= 15,000
44,681 9,420 35,261
(3210-3218-110-101-10)
(=3,445)
31,310 * 2 * 40 = 2,505
31,310 * 1 *30 = 940
(3210-3218-120-201-01)
«C ) 100 * 10,000 = 1,000
35,000 * 10 = 350
= 500
(=4,240)
- 140,000 * 12 = 1,680
- 60,000 * 12 = 720
- = 40
- 150,000 * 12 = 1,800
273,000 * 2 = 546
= 1,400
120,000 * 1 * 40 = 4,800




[ 30,000 ]

120,000 * 1 * 30 = 3,600
(3210-3218-120-202-02)
150,000 * 2 * 12 = 3,600
(3210-3218-120-301-12)
50,000 * 4 *1 = 200
(3210-3218-220-206-00)
(=1,000)
5,000 * 100 *2 = 1,000
(3210-3218-220-401-01)
= 20,000
6: 764,291 513,491 250,800|[ 512,000 ]
6- 634,797 475,397 159,400 [ 442,000 ]
64,797 51,900 12897|[ 56,000 ]
(3210-3218-120-201-01)
10,000 * 300 = 3,000
(3210-3218-120-202-01)
49,900 * 3 *2 *5 = 1,497
(3210-3218-120-203-03)
= 2,000
(3210-3218-120-301-10)
200,000 * 5 *2 = 2,000
(3210-3218-120-301-12)
50,000 * 6 *1 = 300
(3210-3218-210-201-01)
= 30,000




(3210-3218-210-202-01)

= 3,000
[ 3,000 ]
(3210-3218-210-202-03)
= 8,000
[ 8,000 ]
(3210-3218-210-301-12)
= 15,000
[ 15,000 ]
570,000 0 570,000([ 386,000 ]
(3210-3218-210-307-02)
= 50,000
[ 50,000 ]
(3210-3218-210-403-01)
= 240,000
[ 168,000 72,000]
= 280,000
[ 168,000 112,000]
6- 129,494 38,004 91,400[[ 70,000 ]
59,494 38,004 21,400
(3210-3218-120-201-01)
5,000 * 600 = 3,000
= 10,000
(3210-3218-120-202-01)
49,900 * 3 *2 *5 = 1,497
49,900 * 3 *2 *5 = 1,497

(3210-3218-120-301-12)




50,000 * 10 * 1 = 500
(3210-3218-220-207-01)
13,000,000 * 1 = 13,000
(3210-3218-220-401-01)
= 30,000
70,000 0 70000([ 70,000 ]
(3210-3218-210-403-01)
= 70,000
[ 70,000 ]
91,474 45,118 46,356
(3210-3218-110-101-03)
( )
130,000 * 1 * 12 = 1,560
(3210-3218-110-101-07)
( ")
36,025,000 * 58% * 10/249 = 840
(3210-3218-110-101-08)
( ) (=40,730)
(34,673,000 + 34,673,000 * 58% * 1.5%) = 34,975
34,975,000 * 3% = 1,050
(=600)
- 30,000 * 1 * 12 = 360
- , 20,000 * 1 * 12 = 240
6,830 * 1 *48  * 12 * 1.013 * 1.03 = 4,105
(3210-3218-120-201-01)
= 9,284
5,000 * 23 *7 *12 = 9,660




(3210-3218-120-202-01)

10,000 * 10 * 21 * 12 = 25,200
(3210-3218-120-203-04)
350,000 * 12 = 4,200
4,700,000 4,700,000
(3210-3218-320-402-01)
= 3,200,000
= 1,500,000




